
2. A neutral (uncharged) molecule containing only carbon, hydrogen, oxygen, and nitrogen gives a molecular 
ion shown below in the ESI (electrospray ionization) mass spectrum. The molecule contains 66 carbons, a 
number of hydrogens, 16 nitrogens, and 14 oxygens. No other elements are present. (5 points). 
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a. What is the charge of the ion at m/z 678.40? ______________ 
 
 
b. What is the mass of the ion at m/z 678.40? ______________ 
 
 
c. How many hydrogens are present in the ion at m/z 678.40? ______________ 
 
 
d. What is the molecular formula of the neutral (uncharged) molecule? _________________ 
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